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(Get Ready, ..., Reading)
7o 510 slhaxiv

PART A: Grammar and Vocabulary

[Directions: Questions 61-71 are incomplete sentences. Beneath each sentence you will see four words or phrases marked (1), (2), (3), and
(4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on your answer sheet.

61- They think that ... of these students do not have ... knowledge of the history of their country.
1) some — many 2) many — a few 3) much — any 4) many — much
62- A: “We have ... sugar. It is not enough to make some cake.”
B: “OK. I’ll buy some.”
1) little 2) a little 3) few 4) a few
63- Most scientists believe that the Earth came into existence about five thousand ... years ago.
1) millions 2) million 3) millions of 4) million of
64- Which sentence is grammatically WRONG?
1) The students need to read much books about history.
2) Please buy a loaf of bread for breakfast.
3) Children should drink a lot of milk.
4) Could you please give me a glass of water?
65- Taking no ... of the people around them, the boys kept talking loudly to each other.
1) notice 2) picture 3) care 4) part
66- For choosing a proper field of study, it is better for students to ... the help of various teachers.
1) seek 2) surf 3) visit 4) avoid
67- Mia has a ... of reading books and studying a lot, which is so great and impressive to me.
1) mission 2) limitation 3) habit 4) means
68- Researchers believe that the nuclear bomb which USA used in Hiroshima was a/an ... death

machine. No creature stayed alive after that attack.

1) necessary 2) harmless 3) comfortable 4) absolute
69- 16% of the forest cover has ... during the last 100 years.
1) destroyed 2) disappeared 3) ordered 4) measured
70- Last month, we travelled to Africa to join the party and people said that Asia will ... the next party
on July 12",
1) cause 2) create 3) host 4) collect

71- Before my trip to China, I could never ... that it would be such an amazing place to visit.
1) imagine 2) prepare 3) prevent 4) enjoy
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IPART B: Cloze Test

[Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on|
[your answer sheet.

DP’ve always wanted to be an entertainer but never did anything about it until I ...(72)... my
job last year. After a/an ...(73)... with a friend about the boredom of office life, I decided to
...(74)... a new job with giving preformances at events like kids’ parties. So I became a clown!
I love seeing the excitement on the Kids’ faces, and I try to have a lot of ...(75)... in my act, so I
tell jokes and ...(76)... keep the kids actively involved for an hour or two. It’s the prefect job

for me.
72-1) lost 2) suggested 3) considered 4) identified
73- 1) comprehension 2) conversation 3) addiction 4) proportion
74- 1) get around 2) hang out 3) look for 4) give up
75-1) miracle 2) pressure 3) access 4) variety
76- 1) mentally 2) generally 3) slowly 4) politely

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct]
choice on your answer sheet.

The Louvre Museum is one of the largest and most important museums in the world. It is
housed in the expensive Louvre Palace, situated at the heart of Paris. The collection of the
Louvre Museum was first established in the sixteenth century as the private collection of King
Francis 1. One of the works of art he bought was the now famous Mona Lisa painting. The
collection grew steadily thanks to donations and purchases by the King. In 1793, during the
French Revolution, the Louvre became a national art museum and the private collection
opened to the public.

The museum has a collection of over one million works of art, of which about 35,000 are on
display, spread out over three wings of the former palace. The museum has a diverse
collection ranging from the antiquity up to the mid-nineteenth century. Some of the most
famous works of art in the museum are the Nike of Samothrace, the Dying Slave by
Michelangelo, and of course Leonardo da Vinci’s Mona Lisa.

77- All of the followings are true, according to the passage EXCEPT ... .
1) only the King’s family can visit the museum
2) King Francis’s collection is in the Louvre Museum
3) the Louvre became a national art museum in the eighteenth century
4) the Louvre Museum is placed at the center of the capital of France
78- The word “diverse” in paragraph 2 is closest in meaning to ... .
1) different 2) well-known 3) national 4) important
79- In the following paragraph of the passage, we can find information about ... .
1) the collection of the Louvre Museum
2) other largest and most important museums of the world
3) some of the most famous works of art in the Louvre Museum
4) the expanse of Louvre Palace
80- The passage answers to which of the following questions?
1) Who called the Louvre a national art museum?
2) How many Michelangelo’s works of art are there in the Louvre?
3) When did the Louvre become a national art museum?
4) How frequently did King Francis I buy Leonardo da Vinci’s works?
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